APPENDIX A: REVERSIBLE TRIPLET TRANSFER

In this section we will derive the IET equations for the problem at hand. From the
general equations (2.1), (2.2) and (2.3), one may obtain the following IET equations for Ng,
P and Np:

Ng = —]7\_/5 - c/ot R*(t — 7)Ng(7)dr + /Ot Rt — 7)P(1)dr + C/Ot R*(t — 7)Nyp(7)dr,
p- c/Ot RI(t — 7)Neg(r)dr — /Ot Ri(t — 7)PX(r)dr + c/ot RO(t — 7)Np(r)dr, (A1)
Nr=-2T e ['RY~ Ns(r)r + [ B8~ )P ()7 —c [ Rt~ r)Ne(r)r

T
The kernels from (A1) can be expressed via the elements of R as follows:
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R' = Ry + Rs;, R =— (4(322 + Rss) + 1(323 + 333)) . R® = Ryy + Ray,

~ 1 - ~ ~
R* = — Ry, Rt = 1312 + —Ry3, R* = Ry, (A2)

A 14 3 - .
R” = Ry, R*= ZR42 + ZR437 R* = —Ry.
There are the following contact expressions for these kernels:
R* = ky (44 gikek o + g1 (3ke + ki) + go(ke + 3ky + 4k _y + Bgikok ¢ + dgikcky)) /Y, (A3)
Rﬁ = k)b(l + gok_t + glkt)/Y, R"’ = (go — gl)kbk—t/x RT = 4]€f(1 + gok'_t + glk:t)/Y,
RY = (Ky(1+ gok_s + 4gike) + (14 goks) (3K + ke + gokek_¢ + dgikckr)) /Y,
RO = 4k_y (1 + gsky)(1 + gike) + giks) /Y, RY = 3(go — g1)ksk/Y,
R* = 3k (14 gokp) (1 + g1ke) + g1ks) /Y,

é* =k ((1 + gskf><4 + goke + 3glkc) + kb<g0 + 391)) )
where

Y= (14 gok—¢) [(1 + gsky)(4 + goke + 3g1ke) + kb(g0 + 391)] (A4)

+[(1 + g5k ) (91 + 390 + 4g0g1ke) + 49091 k] ke
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